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Numbers to 100,000

m 1 block = 1 one
Group of
10 blocks i Ten

How many tens and ones are in 537

53
2 55

5 tens 3 ones

There are 5 tens. They represent 50 blocks.

There are 3 ones. They represent 3 blocks.

53 = 5 tens 3 ones

53 =50 + 3




Count the blocks. Write tens and ones.

Tens | Ones

Write the number of tens and ones.

42 = 4 _ . Yeps. B __ wones

84 = tens ones

30 = tens ones

_ 35 = tens ones

Write tens and ones.

63 = 60 +

21 = -

78 = +

57 = +

84 = +



Look at this example.

4 tens 7 ones

e T

&7
4 tens 7 ones = 47

Read tens and ones. Write the number.

5 tens

6 tens

7 tens

4 tens

8 tens

2 tens

3 ones = 53

2 ones

4 ones

9 ones

5 ones

T ones




10 tens joined together make a hundred.

.

How many hundredé, tens and ones are in 146?
146

1 hundred 4 ‘hans 6 ones

There is 1 hundred, 4 tens and 6 ones in 146.
146 = 1 hundred 4 tens and 6 ones




Write the number of hundreds, tens and ones.

186 = _1 hundred _8 tens _6 ones
519 = ___ hundreds ____ tens __ ones
365 = ___ hundreds ____ tens __ ones
430 = ___hundreds ____tens ___ ones

Count and write hundreds, tens and ones.

Hundreds Tens Ones




How many hundreds, tens and ones are in 159?
159

1 hundred 5 fens ones

There is 1 hundred, 5 tens and 9 ones in 159.
159 = 100 + 50 + 9

Write separately hundreds, tens and ones.

348 = _300 4 40 + 8
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Ali has 3 coins. The number on the coin shows it’s
face value.

. One
. Ten

. Hundred

Look at this example.
® ©6 000
B D
1 hundred 2 tens 5 ones

e e

125
1 hundred 2 tens 5 ones = 125

Count hundreds, tens and ones. Write the number.

Hundreds] Tens Ones |MNumber

@ ® © ® © @ 3 |2 |1 (321
®HO0O0O000
oo




Ali has 10 coins of one hundred each.
0 = 1 hundred

Group of 10 hundreds = 1 thousand

G006
__> .
LL L L q

2349

2 thousands / \ 9 ones

3 hundreds 4 tens
2349 = 2 thousands 3 hundreds 4 tens 9 ones

Write the number of thousands, hundreds, tens and ones.

Thousands | Hundreds Tens Ones
2917 2 9 1 7
4625
| 5834
6831

8743




1 fhuusanws My 6 ones
1346

1 thousand 3 hundreds 4 tens 6 ones = 1346

Read thousands, hundreds, tens and ones. Write
the number.

2 thousands 5 hundreds 7 tens 9 ones = _2579

3 thousands 6 hundreds 5 tens 2 ones = ___

5 thousands 7 hundreds 8 tens 1 one =

4 thousands 9 hundreds 2 tens 3 ones =

6 thousands 2 hundreds 3 tens 9 ones =

5 thousands 4 hundreds 2 tens 8 ones =




Look at the coins and write the number.

Thousands

Hundreds

Ones

Tens
0
o

The number is

Thousands

Hundreds

Tens

Ones

The number is

Thousands

Hundreds

Tens

Ones

The number is

10




Sana has 10 coins of one thousand each.

1000 = 1000

10, 000

‘Y YXY Y %
e =

/

Group of 10 thousands

13 475

1 = Ten thousand
3 = Thousands

4 = Hundreds
7 = Tens
5 = Ones

Look at the number and complete the table.

Ten thousands| Thousands Hundreds Tens Ones

14, 357

21, 795

45, 678

19, 276

11



Remember how many tens make a hundred?
10 tens = 1 hundred

How many thousands make a hundred thousand?

10 ten thousands = 1 hundred thousand

125, 386
| = Hundred thousand
2 = Ten thousands

5 = Thousands

3 = Hundreds
2 = Tens
6 = Ones

Look at this number and fill in the blanks.
573, 942

Hundred thousands =

Ten thousands =

Thousands =

Hundreds

Tens

Ones

12




We use place value to read and write numbers in

words.
Eight thousand, nine hundred and

8, 931 :
thirty one.

21 573 Twenty one thousand, five hundred

i and seventy three.

138, 801 Qne hundred and thirty eight thousand,

eight hundred and one.

Read the number and write the word.

10, 583

4,192

120, 367

908, 561

13, 741

2, 642

13




% Comparing numbers

Encircle the box with the greater number of objects.

— - i
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Which box has more sweets?

™
- -
- -
=

—
- -

The box on the left has more sweets.

We can show this as:

P s

gréafer than >
lesser than €

The > sign has an open side and a close side.

open side Q1 close side

The open side faces the box that has more objects.

The close side faces the box that has lesser objects

Let’s look at another example.

00 <[ 60606 | |

15




Which box has lesser sweets?

Wl

i — R ———

The box on the left has lesser sweets.

We will put the sign as:

L jr Vs

closed side

Which box has greater number of stars?
o W A ) (e % &)

Both boxes have 4 stars.

We use = sign
when both sides
have equal
objects

rdde k] = [k &

16




Remember:

Let’s look at a few examples.

open side 1)
closed side 1€

= equal

TOR
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Which is the bigger number?

D

8 is bigger than 5. We can show this as:

BLL# S The open
l side
open side faces 8.

Which is the smaller number?

el e

3 is smaller than 7. We can show this as:

3 f 7 The closed
side
closed side faces 3.

Which is the smaller number?

L5704

There is no smaller number. Both numbers are equal
6 = 6

We use =
sign for equal
numbers o




Compare the numbers and write the correct sign
in the middle.

> - <
6| > | 3 8 9 l T
4 4 3 5 5 6
7 4 2 6 8 1
6 6 8 3 2 0
5 4 9 2 3 &
& 1 F 7 3 1
5 8 7 3 3 2




Which is the bigger number?

(15 28)

28 is bigger than 25. We can show this as:

28 8 15 The open
l side
open side faces 28.

Which is the smaller number?

(13 47

13 is smaller than 47. We can show this as:

13 f 4T i eieen
side
closed side faces 13.

Which is the smaller number?

(s6 56

There is no smaller number. Both numbers are equ
56 = 56

WG_USE =
sign for equal
numbers




'F

Compare the numbers and write the correct sign

u in the middle.

" > = 4
45| £ |63 29 13 51 85
40 40 T8 o1 o7 15
24 38 86 59 43 11
72 23 45 53 97 97
98 47 50 62 79 28
35 52 63 18 37 18

42 68 15 30 21 16

22



Which is the bigger number?

328 160

328 is bigger than 160. We can show this as:

328 > 160

The open
l side
open side faces 328.

Which is the smaller number?

430 597

430 is smaller than 597. We can show this as:

430 f 97 The closed
side
closed side faces 430.

Which is the smaller number?

so 250

There is no smaller number. Both numbers are equal.
250 = 250

We use =
sign for equal
numbers ;3




Compare the numbers and write the correct sign

in the middle.
112 680
583 583
680 870
597 338
682 890
378 709
456 456

24

>

550

740

800

210

302

542

632

286

728

900

210

308

410

794

312

394

130

483

597

260

870

317

971

481

971

524

800

835




Ascending and Descending Order § ‘

Look at these numbers.

43 65 81 92
Which is the smallest number?
%43 65 81 92

—

Which is the biggest number?
43 65 8l 92
The smallest number is written first.

The biggest number is written at the end.

We say that the numbers have been arranged from
the smallest to the biggest.

92

81 This is called
arranging in
65 ascending order

43

29



Let’s arrange these numbers in ascending order.
570 935 632 209

@ Encircle the smallest number.
570 935 632 ‘209
. Encircle the biggest number.
570 935 632 209
. Arrange the numbers in ascending order.

209 570 632 935
smallest biggest

Let’s arrange these numbers in ascending order.

356 583 703 470
@ Encircle the smallest number.

35¢ 583 703 470
@ encircle the biggest number.

356 583 703 470
® Arrange the numbers in ascending order.

356 470 583 703

smallest biggest

26
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Arrange the numbers in ascending order.

72- 27 83 3% oy 35 ¥ . B3

93 48 65 28

32 18 24 67

46 89 36 22

18 10 89 65

150 330 482 650

793 456 670 205

382 504 312 480

512 228 309 945

650 124 435 560

L7



Look at these numbers.

92 78 35 24
Which is the biggest number?
92, 78 35 24

Which is the smallest number?
92 78 35 \24)
The biggest number is written first.

The smallest number is written at the end.

We say that the numbers have been arranged
from the biggest to the smallest.

92

8 This is called
arranging in.
descending order

35

24

28




Let’s arrange these numbers in descending order.

456 600 154 209

@ Encircle the smallest number.
456 600  'i54 209
@Encircle the biggest number.
456 6000 154 209
@) Arrange the numbers in descending order.
600 456 209 154

biggest smallest

Let’s arrange these numbers in descending order.

850 963 208 452
@ Encircle the smallest number.
850 963 {08 452
@Encircle the biggest number.
850 963 208 452
§) Arrange the numbers in descending order.

963 850 452 208
biggest smallest

29




Arrange the numbers in descendi order.

83 20 75 49 83 75 49 20

65 44 28 35

56 12 90 35

42 18 67 12

13 45 58 60

200 315 680 798

653 844 312 145

703 950 265 140

356 578 809 124

794 813 124 685

30
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Ali has 8 sweets. He shares them equally into 2
groups.

Ay A 4
'
Sy
& &
L

Y

\\\

There are no sweets left.So, we can say thnf 8isan
even number. o *

Even numbers have 2, 4, 6, 8 or O in the ones place.

31
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Sana has 9 sweets. She shares them equally into
2 groups.

y

There is 1 sweet left over.So, we can say'/ that
9 is an odd number. (=3

Odd numbers have 1, 3, 5, 7 or 9 in the ohes place.

32




Count the objects and tell whether they are even
or odd.

22000 even{ odd
even | odd
even | odd
even | odd
even | odd

Encircle the even numbers.
20 51 43 38 97
66 18 4 93 80
Encircle the odd numbers.
17 19 24 31 47

65 20 42 78 94

R




" Find the sum of 23 and 16.

Tens Ones
2 —3
=] a2l
| 2; ‘:P L Tens Ones
ones
®® 000
Tens Ones . . .
23
+ 1 6 z
: ® eoo0e
'Sfep- 2: Tens Ones
Add tens
Tens Ones . . . . . .
2 3 N N
£ 1 e (X X

The sum of 23 and 16 is 39.

34




Add the following numbers.

Tens Ones

g 3
R .

HmE
~HR

Tens Ones

5 1
5 2 2

Tens Ones
. 6 1
+ 1 3
Tens Ones

6 e
. 3. &
Tens Ones

T i3
+ 1 4
Tens Ones

5 3
+ 2 1

Tens Ones
2 &
3.9

Tens Ones
5 1
3 3

Tens Ones
2 4
3 3

Tm. Ones
7 1

35



Find the sum of 49 and 4.

Tens Ones
4 9
+ 4

Step I
Add ones
Tens Ones
14 9
+ 4
3
13 ones =1 ten 3 ones
We carry 1 ten
to the tens side

id*?f& Tens Ones
ens
10 10 10
Yo o oo |900
r 4 |
5 3

36




Add the following numbers.

ens Ones
1 6
5

T
+

ens Ones
2 4
8

T
+

37



Find the sum of 35 and 19.

! Tens Ones
' 3. 5
+ 1 9
Step 1: Tens T\ Ones
d B e |
Ad Tt::rma:s . .‘ :....‘
ens Ones .
13 5 o
+ 1 9 |
4
14 ones = 1 ten 4 ones .
We carry 1 ten
to the tens side.

i;ZPf& Tens Ones
ens
o wmn O00@
Tens Ones
18-78% R
+ 1 9

5 4

38



Add the following numbers.

Tens Ones
4 8
+ 1 2
Tens Ones
3 D
+ 2 6
Tens Ones
4 6
e T
Tens Ones
5 6
+1 4

Tens Ones
5 9
+ 2 2
Tens Ones
2 7
+ 1 8
Tens Ones
6 9
+ 2 3
Tens Ones
6 5

Tens Ones
7 6
1 6
Tens  Ones
3 2
2 9
Tens Ones
2 5
1 9
1:¢ns Ones
3 3
1 8

39




Find the sum of 120 and 93.
Step L: Hundreds| Tens Ones
Add ones
H TO 100
-2 8
+ 9 3
3
Step 2:
Add tens |
HTo Hundreds| Tens Ones
'1 2 0 7]
+ . 9 3
1 3 @
11 tens = 1 hundred 1 te

We carry 1 hundred
to the hundreds side

Step 3:
Add hundreds

H T O
1 2 O
+ 9 3
1 3

2

40




Add these numbers. Remember that H stands for

hundreds, T for tens and O for ones.

O m
= 0

Irom

Owunm
f— 00

I

Oww
s

Traod

O o0 <
b= 0

I wn

Qo ~
= O On

e

Ooom
= — N

T m

O mo
b= I~ I~

xI -0

031
= P~

I o0

O o0 I~
= — D

I o

Qo
= ~F+ O

Trwm

O moo
b O F

I o

oo
fe O\ 0O

e

41




Find the sum of 257 and 364. |

Step IL:
Add ones
H T O
2 '8 .7
+ 3 & A
1
Step 2:
Add tens
H T O
2 s 7
+3 6 4
2 1
Step 3:
Add hundreds
H T O
*2 - T
+ 3 6 4
6 2 1

42




Add the following numbers.

Ounw

= 00 LN

TN mM

O m

= ON GO

gl -

Ownw

=~

I~

Owunw
- o

T o™

Own <

= O\ —

Toam|

ONw

=0 M

o o o G

Ouwn o0

=~

T~

O =0

= 00 O

Toom

O —00
= <0 N

LT

O o0 1n
= O\ o

T

O « o0
= O L0

T

O~
o

L0 —
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Find the sum of 1023 and 1564.

Step 1
Add ones
Th B T O
1-0- 2 3
+ 1 5 6 4
7
Step 2:
Add tens
Th H T O
1 0-2-3
+ 1 5 6 4
8 7
Step 3:
Add hundreds
Thod T O
1 0 2 3
+ 1 B &6-4
5 8 7
Step 4:
Add-fthousands
Th H T O
1 0 2 3
+ 1 5 6 4
2-5 8 7

44



Add the following numbers. We can write Th for

thousands, H for hundreds, T for tens, O for ones.

O —aun
=M~
N

= D0~

Omm
= 00 —
I N

=N

Co~

oo

Tom

— 00 —

O™~ =
= m

I oo

T32_

CQowm
= —
T 0

=~ m

oo
3 m

i 00

= W

OO
Fum
I o ~F

_.m O

O
= m
TrTuwmm

o

O~
= & O
il Ty

m 2'1_

O m
o0
I — LD

mal_
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Find the sum of 1253 and 4936.

Step l:
Add ones
Th H T O
1-2 & 3
+ 4 9 3 6
9
Step 2:
Add tens
Th H T O
] 25 3
s & 9 3.6
8 9
Step 3:
Add hundreds
Th B T ©O
H g B 3
-k 9 F.6
1 8 9
Step 4:
Add thousands
Th H T O
1. 2 5 3
+ & 9 3 6
61 8 9

46
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Add the following numbers. Remember that Th stands
for thousands, H for hundreds, T for tens, O for ones.
+
.l.
; =
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Addition problems in daily life

There are 20 apples and 30 mangoes on Ahmed's cart.
How many fruits are there altogether?

There are 50 fruits altogether.

Sana had 427 beads. Her mother gave her another

258 beads. How many beads did Sana have
altogether?

- . e
L -

427 + 258
& 2 -

+ 2 5 8
6. 8.5

Sana had 685 beads altogether.
48




o

2 -

@ Ahmed got 180 marks in his Math test and 215
marks -in his English test. How many marks did he
get altogether?

@ There are 29 boys and 13 girls Q
in Class 3. How many students "3
are there altogether? })%

.PukiSfun scored 320 runs in a cricket match. India
scored 285 runs. How many total runs were scored
in the match? :

@ Bashir sold 68 oranges on Monday
and 103 oranges on Tuesday.
How many oranges did he sell
altogether?

® Ali got Rs. 132 on Eid. Hamza got Rs. 95 on Eid.
| How much money did both Ali and Hamza get
on Eid?

49



More about addition

Ali bought 3 red balloons and 2 blue balloons.

How many balloons does Ali have?

Ali has 5 balloons.
000 00 W
3 2 5

Sana bought 2 red balloons and 3 biue balloons.

How many balloons does Sana have?

Sana has 5 balloons.
00 - 000 w
2 3 5

3+ 2=5 2+3=58
3+2 = 2+ 3

We can write 3 + 2 or 2 + 3.
The answer remains 5.

S0



How many fruits are there?

0000 .,y o . YOO
SEEE - 2009

8 oranges and | apple 1 orange and 8 apples
make 9. make 9.

How many sweets are there?

oY - an.an.

3 blue sweets and 4 pink Liue sweetfs and 3
sweets make 7. ¢ink sweets make 7.

How many balls are there?

0o - 99 .

2 pinkﬁ balls and 4 blue 4 pink balls and 2 blue
balls make 6. balls make 6.




Fill in the blanks with the correcf answer.

2oy = - "and 5 $ende wna
6 + 3 = — and 3 + 6 = —
8h % 1 m o Yvafd -l e & e
T.. % 9 :m .- afd».9 % T, .= oaa s

Fill in the blanks with the correct answer.

9" % % 2 ¥ 19
05— & AT RS
S S R S S RS
B oandk P o8 ek b T
3 ¥ T = $11273

52



Mental addition

Find the sum of 12 and 26.

12 + 26 =7
12=10+ 2
26 =20 + 6
. Add the tens
10 + 20 = 30
@ Add the ones
2+ 6=8
. Add both answers
30 + 8 = 38
12 726 = 38
Do mental math and add the following numbers.
15 +10 = 18 + 11 =
26 +13 = 9 +10 =
= 30 + 16 =

32 +12

17 + 21 = 2h ¥ D=

53



Find the difference between 47 and 13.

Tens Ones
4 7
-1 3
Step It
Subtract ones.
Tens Ones
4 7
-1 3
4
Step 2
Subtract tens.
Tans Ones
4 7
- 1 3
3 4 -
Tens Ones

54




Tens Ones
7

Subtract the following numbers.

3

6
-1

55



Find the difference between 43 and 6. |

Tens Ones Tens Ones

4 3
g 250 o G BRBE
© o

Sfep l: -
Subtract ones

Tens Ones
# '3
- 6

7 We cannot
subtract 6

from 3.
We will
borrow 1
ten from

the tens
side.

Step 2:
Subtract tens

Tens Ones
3 ;/ 1 3
_ 6 Tens Ones

3 T
Pa

56




Subtract the following numbers.

Tens Ones Tens Ones Tens Ones

3 2 4 1 6 4

= 7 o 8 - 5
Tens Ones Tens Ones Tens Ones

1 4 5 4 4 3

- 8 - 7 - 8
Tens Ones Tens Ones Tens Ones

6 2 8 5 1 3

= 8 : 7 - 5
Tens Ones Tens Ones Tens Ones

2 2 3 1 4 5

- 6 - 8 - 6

57



Find the difference between 75 and 28.

Tens Ones

7 & Tens Ones
= 2 .8 w0 HOODG
o ee |
oo T /J"““' Qnes ‘
Subtract ones. ens o s §
T;a/ ::'-‘nes ...g%%GGE
2 Ll T ‘
7
Step 2:
Subtract tens.
Tens Ones
9 's
- 2 8
& o Tens Ones
e
© 0 w0 w0 Y

58



Subtract the following numbers.
Tens Ones Tens Ones Tens Ones
5 i d & 3 8 1
- 2 9 - 2 6 = oD 3
Tens  Ones Tens Ones Tens Ones
6 2 3 9 { 2
N =it 7 w: g 8
Tens Ones Tens Ones Tens Ones
9 1 6 8 6 2
- 4 3 -1 9 - 3 i
Tens Ones Tens Ones Tens Ones
8 4 7 ¥ 9 3
- 2 ¥ i - 4 5 - 2 6

59



Find the difference between 285 and 162.

Step I
Subtract ones.

n-T. 0
2 8
1 6

wiro o

Step 2:
Subtract tens.
H T O
2
1

ro|o~ 00
wiro

_Step 3:

Subtract hundreds.

H T 0O

I-II-—IIN
ro|o~ 00
wirou,m

Hundreds| Tens Ones
on 0000
1 ) )| @
®e @
Hundreds| Tens Ones
Y SLI I
L bl X
®@® o
Hundreds Te;ts Ones
» s WOIDSOS
P00
e o |
Hundreds Terjlrs Ones
® ®® 0.0




Subtract the following numbers. Remember that H
stands for hundreds, T for tens and O for ones.

H T O 5T 20 #- T.0
6. & 5 g8 =3 %4 4 B
o 3. 2. e o g e -0
H T O H T O Nt O
728 4 5 6 3 9 4 7
S WS S e -8 -3 ®
4 T 0 TR H Y0
8 4 9 3 6 5 7 8 %
B o IS gNs e PR
H T O T 20 H Tl
5 & 9 3 8 5 6 9 5
Sag il o o e e TR asE:

61



Find the difference between 292 and 65.

47T O
2. 9 2
- &6 5
-
Step I:
Subtract ones.
H T O
2% 19
- 6 5
=
Step 2:
Subtract tens.
H T O
2 By 12
- 6 5
2 7

Step 3:
Subtract hundreds.

(3% I
Nu\\\‘a;—l
Nt o
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Subtract the following numbers. Remember that H

stands for hundreds, T for tens and O for ones.

O 0
= Ov D

T m

O~
=~ 00 ~+

I -

O M
=000

T —

O 00
= P~

I o0

O moo
ol T2 A3

I 0

OrM~un
= ~— 00

ruw

O oom
= M~

T un

C oo
= ~+ N

rm

Ouwunw

= <D 00

x b=

O~
=0 -

Iuw

OCwnr~
el 1

XL ©0

O ~ln
=0m

I~

O ovn
= O

=

Cowm
= 10O

I

O N
= 0N —

I uw
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Find the difference between 312 and 158.

Step 1:
Subtract ones

4T 0
3 -9 e
- 15 8
4
Step 2:
Subtract tens
BT
2 10 12
1 5 8
5 4

Step 3:
Subtract hundreds
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Subtract the following numbers.

OMN~m
= D

I 0Ny

O
- ~D LN

r~m

O =M~
— 00 O

T

O M~un
- OWwm

T e

O mwo
I~ «0 00

o ol 1 p

O oouwn
= M~ O

I N

Owmm
- D 00

I 00~

O M~un

= M0

- g—

O un
= O m

T 0N

OooO
- O

I oo

O inoo
= — O

I A

OO

- 09|

I o

O owm
- 0N O

T ~o

O unun
= — D

I 000

O owm
— 000

I ~0

65



Find the difference between 3784 and 2362.

Step 1:
Subtract ones.

ThH TO
T8 &
= 2 3 & 2
2
Step 2:
Subtract tens.
™mH Y O
3 T 8 &
-~ 2 3 8 2
2 2
Step 3:
Subtract hundreds.
Th H T 0O
3 7 8 4
= 2 3 61 2
4 2 2
Step 4:
Subtract thousands.
Th H 'T O
37T 8 %
- 2 3 6 2
I & 2 2
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Subtfract the following numbers.

Q st
= o
g p

=140 o

O nr~v
- 00 LN|
T D

T32

Omad

=~ N~

O 00 —
= 00 M
T N

._mq,.?__

OO
-
TroN

=0 ol

OmoO
-
Tom

e o

67



Find the difference between 4381 and 1658.

Step 1:

Subtract ones.

CHtam s
- | = P

SubErucf tens.

Step 3:
Subtract hund

Step 4:

Subtract thousands.

Th H T O
k- 3 TRl
=1 6578
3
Th H T O
& 378 %
-1 6 5 8
2 3
reds.
am m Y0
3 13 T/g’ll
-1 6 5 8
7 2 3
Th H O
3 13 ?/g’ll
eatd
2 7T 2 3

68

We cannot subtract
8 from 1. We will
borrow 1 ten from

the tens side.

We are left with
7 tens. We will
subtract
5 from 7.

We cannot
subtract 6 hundreds
from 3 hundreds.
We will borrow 1
thousand.

We are left with
3 thousands. We will
subtract 1 thousand

from 3 thousand.




Subtract the following numbers.

oOam
=~ O
INO

m...n.l_

T51ﬁ

Omn

I W

om

OM~un
=0 —
I

=HERY

O —~~t
- 0 O
T 10 O
i o\ 00|

OoOnnN
= N O
Ir~m

Ere

Omw

b= —t D
To0OM

= P~ -
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Subtraction in daily life

Abid has 16 goats in his farm.
He sold 5 goats. How many goats
were left on his farm?

Abid has 16 goats 1 6
He sold 5 goats. = 5
Number of goats left 11

Abid has 11 goats left in his farm.

Sana had 148 sweets. She gave away 35 sweets
to her friends. How many sweets were left?

Sana had 148 sweets 1 4 8

She gave away 35 sweets B 35

Number of sweets left W

There were 113 sweets |left.
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@ Ahmed had 15 biscuits. He ate 9 biscuits. How
many biscuits were left?

@ There were 29 birds on a tree. 13 birds flew
away. How many birds were left?

@ There were 43 apples on a tree.
12 apples fell down. How many
apples were left on the tree?

@ Haris had 153 coins. He gave away 32 coins to
his brother. How many coins were left with Haris?

.Sunu had 377 candles. She used 240 of them.
How many candles were left with Sana?

@ There are 345 people in a hall. 132 go out. How
many people are left inside the hall?

@ Irfan had 175 eggs. He sold 38 eggs. How many
eggs were left?
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: |
% Repeated Addition & Multiplication

Look at these examples.

There are 2 groups.

Each group has 4 oranges.

S]] (S

2 o 2 + 2 = 6
There are 3 groups.
Each group has 2 bananas.
000 900 6066 6060
3 + 3 + 3 + 3 = 12

There are 4 groups.
Each group has 3 balls.

T2




Count the total number of groups. Count the number
of objects in each group. Write the total number.

(O00) (0OO)

There are groups.

Each group has eqggs.

. S IR S

———

There are

groups.

Each group has biscuits.

2 - % irRie 0@ #t 8Os

AU ANY AR

There are groups.

carrots.

4 + 4 + 4 =

Each group has

—
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Multiplication

How many rings are there altogether?

[o oooo] [o & o]

5 #. 5% = IO

There are 2 groups. Each group has 5 rings.
e % B = .10
We say 2 times 5 equals 10.

X is read as times.
It means to multiply.

How many balls are there altogether?

559 539 (852

& + 6 H4urd = |8

There are 3 groups. Each group has 6 balls .

AKX & i= 18
We say 3 times 6 equals 18.
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Multiply the numbers.

[i‘i_‘i] [i‘i ii] [ﬁ _.i,.i}

3 X 5 =

We say 3 times 5 equals

0000 (90000

2 Wl o=

We say 2 times 4 equals

D (TR A

3 e s

We say 3 times 7 equals

L L T
gove Gove

g X 8t

We say 2 times 8 equals

5




Let’s quickly revise the tables
we learned in Class 2.

Table of 2
lxes 2
2xX2= 4
3x2= 6
4x2=8
EX 2= 10
6x2= 12
TX2= 14
8% 2= 16
9%x 2= 18

10 x 2 = 20

76

Table of 3
lx3= 3
Z%X3=6
3x3=9
4 x3 =12
5X3=15
6x3= 18
T% 3w 2]
8x3=24
9x3= 27
10 x 3 =30

Table of 4
1x4= 4
2X 4= 8
3x4=12
4 x4 =16
5x4= 20
6 X4&= 24
7 X 4= 28
8 X 4= 32
9x 4= 36
10 x 4 = 40



e

Read the table of 2 and write the answer.
2 X 2=

9)(2:

I X 2=

1x2-=

Complete the table of 3.

6x 2=

DX 2=

. bl | 'd | 354515 10
313 |6

How many triangles are there altogether?
(AAA|(AAA)AAA)AAA)

4 —— e o

4 times ____ equals ____

There are triangles altogether.

Complete the table of 4.
X |1 | 2 (U8 E&LxS 10
4 | 4 | 8

7 7 4




Let’s revise the tables of 5 and 10.

Table of 5
I1x5= 5
2 %X 5=10
3ix5=15
4x5= 20
5% 5=25
6 X5 == 30
7x5= 35
8x5= 40
9 x5 = 45
100 5 = 50

78

Table of 10
1x10=10

2 x10 =20

3 x10 =30

4 x 10 = 40

5% 10.=50

6 x10 = 60

I x10=T0

8 x 10 = 80

9 x 10 = 90

10 x 10 = 100




Read the table of 5 and write the answer.
2 X5 =

5x5= X 5=

ExS= ___ Ixs5=___ 6x5=__

Complete the table of 5.

X ool 2.3 4 |56 [T |8 19110
9 2|10

How many butterflies are there altogether?

SELLE RE&LY

2 X e i

2 times ____ equals

There are ___ butterflies altogether.

Complete the table of 10.
X L1201 b Sales-fa] 8 o =110

10| 10 | 20
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Multiplication Table of 6

1'%6=0
1 times 6 equals 6

2:X 6= 12
2 times 6 equals 12

3x6=18
3 times 6 equals 18

4 X 6 = 24

4 times 6 equals 24

5% 6 =30

. 5 times 6 equals 30

6 times 6 equals 36

T X 6=42

7 times 6 equals 42

B i Wl 8 x6=48

8 times 6 equals 48

9 x 6 =54

9 times 6 equals 54

FIFEIE]  10x 6=60

80

10 times 6 equals 60




Multiplication Table of 7

Ix7=7
1 times 7 equals 7

2x7=14
2 times 7 equals 14

3R 1T-=2l
3 times 7 equﬂls 21

4T =28

4 times 7 equals 28

Sx 7T =235

5 times 7 equals 35

G T =42

6 times 7 equals 42

7x7T =49

' 7 times 7 equals 49

8 x 7 =56

8 times 7 equals 56

9x7=63

9 times 7 equals 63

i [+] 10x 7 =70

L 10 times 7 equals 70

8l




Write the ftotal number of objects.

****] [**** [***ﬂ [t**ﬂ

.00 SI6 0.0 I8 ¢ ¢ SI6 0.6 ¢

There are 4 groups. Each group has 7 stars.

A%t = ‘

4 times 7 equals

W Ay

There are 2 groups. Each group has

carrots.

2 X 6 =

2 times 6 equals

Complete the table of 7.

2- =3 | 4 | 5 1o 17 g |9 |1p
7| 7 14 '
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Multiplication Table of 8

1x8=8

E 1 times 8 equals 8
éj'ii 2x8=16
2 times 8 equals 16

%j;;:: 3 X 8=24

st 3 times 7 equals 21
A EAEAEE 4 x 8 =32
L:r‘ 121.2' 4:imes7’equals 28
A RARARAR 8 =
:j;;:;:j,‘j ::imes goequuls 40
rireimimiin 6 =
jﬁﬁ:ﬁ’iﬂﬁ -' -éfinfes zaequuls 42
TR IRIRIRIR L
ijijijgijijij 7 ir(im«;zs 8 equals 56
T IR T IR IR 8 X 8 = 64
ﬁijigijjaj:j Srimessequuls 64
YIFIFIRIRIFIEIFIE =72
Eijij:jij:jj:j:ﬂ ::irﬁes;equal572
ﬁﬂﬁﬂﬁﬁﬁgﬁﬁj ig :infe: zoequﬂls 80
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C
e

aE8s
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aeod
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ceew
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Multiplication Table of 9

1x9=9

1 times 9 equals 9
2x9=18

2 times 9 equals 18
3 x9 =27

3 times 9 equals 27
4 x 9 =36

4 times 9 equals 36

5x9=45
5 times 9 equals 45

6 X9 =54
6 times 9 equals 54

7x9 =63
7 times 9 equals 63

8x9=72
8 times 9 equals 72
9x9 =281
9 times 9 equals 8l

10 x 9 =90
10 times 9 equals 90




Read the table of 8 and write the answer.

exXB=_ - T e P ITxBs.

8 x 8= Ix8= 6x 8=

Complete the table of 8.

¥ bl 2. 1 3.0 % L5 =S L 78 by 110
8 | 8 |16

How many leaves are there altogether?

A AR

There are 4 groups. Each groups has leaves.
4x9 =

4 times 9 equals

Complete the table of 9.

X [ 12 35 &5 5 & & 18| 9 .49
(9 | 18
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Look at this picture.

We can describe this picture in 2 ways.

There are 3 groups. ’ri
Each group has 5 mangoes. i
3%X5=15

There are 5 groups. ;

5x3=15

Each group has 3 mangoes. ‘
U

X X >

e

5x3=3x5

86 .




Let’s look at some other examples.

(23]

There are 2 groups.

Each group has 3 stars.

2oy oA =L b

A
A
A

There are 4 groups.

Each group has 3
triangles.

4 X 3 = 12

HER

There are 3 groups.

Each group has 2 stars.

o, A TR

(AAAA)
AAAA)
(AAAA)

There are 3 groups.

Each group has 4
triangles.

3 X % =g
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Complete the blanks.

4

10

&8

X

5

20

24

18

24

14

40

54

30

SO

SO

SO

SO

SO

S0

SO

SO

SO

S0

I

20

24

18

24

14

40

54

30




There are O apples.

What if we have three such boxes? How many
apples do we have then?

0 - 0 + 0

We still have O apples.

30 =0
If we multiply anything by O, the answer is still O.

5x0=0
Complete the following.

GRXt=—n
Db o

9 x = 89




There are 3 boxes. Each box has 2 balls.

06 0060 006

3 xX2=6

We can also write this as:

2
X.-3
6

We say the product of 3 and 2 is 6.

There are 4 boxes. Each pot has 2 flowers.
How many total flowers are there?

BB B B BE)

4x2=8

We can also write this as:
5 8
X 4
PO %
We say the product of 4 and 2 is 8.
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Multiply the numbers and write the corrécf answer.

2 2 2
X 1 X 2 X 3
2 2 - 7
X 4 X 0 X 1
3 3 3
X 1 X 2 X 3
4 4 4
X 1 X 2 X 0
5 0 6
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Anwar has 3 boxes. Each box has 21 coins.
How many coins are there altogether?

wos OO @

2 1

X 3 ‘_.. ._j
—  ee @

Step 1:
Multiply 1 one by 3.

Tens Ones

g -
1x3=3
X 3

3

Step 2:
Multiply 2 tens by 3.

Tens Ones

2x3=6 1 ..
o 6w

6 3 L 13

We say the product of 21 and 3 is 63.

#5%
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Multiply the

Tens Ones

(s

X 4
Tens Ones

3 3

X 3
fens Ones

1 8

X 1
Tens Ones

155=0)

X 5
Tens Ones

3 0

X 3

numbers and write the

Tens Ones

23

X 2
Tens Ones

4 0

X 2
Tens Ones

G |

X 4
Tens Ones

i<\&

X 3
Tens Ones

3 4

X 2

correct answer.

Tens Ones

45 2

X 2
Tens Ones

2 4

X 2

Tens Ones

1 d

X 6
ens  Ones

2 0

X 4
Tens: Ones

L. S

X 0]
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There are 4 boxes. Each box has 3 coins.

Tens Ones ...
4 _
- @@
o000
(X X)
Tens Ones .. 4
: LXX)
X 3
l.:@

The product of 4 and 3 is 12.

Find the product of 2 and 5.

o« The product of 2 and 5 is 10.




Multiply the numbers and write the correct answer.

Tens

Tens

Tens

Tens

Tens

Ones

u

Ones

Tens Ones
3
X 5
Tens Ones
6
X ¥ 4
Tens Ones
4
X o
Tens Ones
3
X 5
Tens Ones
9
5

Tens Ones
6

X 8
Tens Ones
9

3

Tens Ones
6

X 4
Tens Ones
-9

X 2
Tens Ones
T

b4 2

. 95
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X 3 Cﬂrr}*"l IE“ IO
the tens side. |

2sn0 2nsT 2 2sn0 2ansT
9 8 Naade -
St A > X a b4 X
Muttipty-t+ten by 3. ——— t
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Multiplication problems in daily life

Ahmed has 6 sweets.Sana has also 6 sweets. How
many sweets do they have in total?

Prrd PrZd
Yoy ra s

Ahmed has 6 sweets. Sana has 6 sweets.

There are 2 children. Each child has é sweets.

2X 6=12

Ahmed and Sana have 12 sweets in total.

Hassan, Ali and Zara have 10 balls each. How many balls
are there altogether?

Ssses) Psesy Aesasy

There are 3 children. Each child has 10 balls.

3 x10 =30
There are 30 balls altogether.

98
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@ Ali has 2 bags. Each bag has
3 apples How many apples
does he have altogether?

@ sana drinks 2 glasses of milk everyday. How
many glasses does she drink in 4 days?

@ The price of a pencil is Rs. 5. Hamza buys
| 8 pencils. What is the total cost that he

pays?

@ Ahmed has 8 books. Sana has 8 books. How
many books do they have altogether?

.There are 2 tfrees.
Each tree has 5 birds sitting on it.
How many birds are there
altogether?
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19 +3 GHD SV
9 bisculfe ¢

woH .vobyisve Alim 1o asaanlﬁ S >.1}:.n. -

Seynb & ni dnith orl2 2sob 2s2enlp ynom

She gives 3 biscuits to Ali.

8‘(”‘«‘3 % T-ifB)H & .29 2i lionsq o 3
ot oAt 2i o

She hus 6 bISC a?:n ‘efﬁ it =l tan gg
hEWSGBl Bibcuits o Sdhazlood 8 znd bsmdA (&
i WSQG o svnd yedt ob D@

6-3-=

200
She hus 3 biscuits left. 5597t S S1D SToAT &

i no gm‘rTle Eb‘TI-:Zi E eorl st rond
19t 9*1 2bid ynom woH |

bigsuits to Ahme ot |
CEE.
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R Ee 56

How many ﬁmfs can g;ubfrnw 2 fill& ‘ 3

Ue NDa S

G Withoe—> 1907

Co
|
o
i
o~

I

in a9 1 W1
E g4

i u . " H

T

.2omit S topvtduz|nos sW

e e s

N
|
Mo
]
o

1 & |

| |

B I H H

e T 7o B P B P |

2omit2 - Zu;z_o’ram’td:;E.s.

We can sﬁb’rruct 2 four times.
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Count the objects. Subtract 2 from them till you
are left with 0.

T

o |+ |0
e

RN
ENENEN
NN
non
o]

—_— We can subtract 2 times.

(DE\
= W

MMM
non

LS AR S (TR
nmun n

2

" We can subtract 2 ______ times.

) o

®© ® 9
® © 9

| 1 I
A T A A I AN
nw - n n

2

We can subtract times.

&
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Division
Ali has 6 balls.
He puts them equally into 2 boxes.

CXxmsixx
6+2=3
6 divided by 2 is equal to 3.

There are 3 balls in each box.

+ is read as divided i:y.
+ stands for division.

Now, Ali puts the balls equally into 3 boxes.

6+3=2
6 divided by 3 is equal to 2.

There are 2 balls in each box.
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There are 10 apples fupi@hak!

We want to divide them equally in 5 boxes.
.2liod 9 2pd ilA

H
ow many apples can E'Euprli“ifw'ﬂn%%ghn%ﬂrﬁ 2tug sH

13
SRIEe
d rdops ni 2lind € 970 sv9AT

vd bsbivib 9
10+5=2

10 divided by‘ﬁd $akiMib 1o oost 2l +
__noilzivib 101 zbnpte +

We can put 2 apples in a box.

Therd%r8%12 SFangdliPa Base orit 2tuq TIA wol

How m@ges u@ ete|in eu

€666 - TQ“‘

eo6S
S ot %d bsbivib 8

f%’ci %3254n| 2llnd S o0 9v8AdT

12 divided by 3 is equal to 4. We can put 4
oranges in each box.
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Divide the objects and wri’réﬁﬂaa%#e?‘pﬂﬁswwf

eo00e| . il errrrs
00O | ... EPPIIIIP

.
T
|

8 + & 2axod € ni ¥llbwps msrﬁ_h!:ﬁ 518 frew-sne

.£ Y0 raldn% art o298
9‘5‘3: 2?-1-3:__

A E= & %1

3385 A
ARKKRRK| c.:,FFFree

Sl =&
19 CERERP e i

el =€ x ¢

“\\\ .2l ot
\“\‘ .2 ot Ipups ai

d=¢<+2l

oy

15 + 5 = __yod dops ni 2tivazid y"rﬁu?n?w—mnnﬂ

€66|6E0CE|6ce 68

38k



Anum made 15 biscuits.

She wants to put them equally in 3 boxes.

How many biscuits will she put in each box?
15+3=7

Recall the table of 3.
1Xx3=3,
2x3=6
3x3=9
4x3=12
5x3=15

5 times 3 is equal to 15.

So, 15 divided by 3 is equal to 5.
153 =5

Anum can put 5 biscuits in each box.

00000 (0000000000
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Divide these nhumbers,

4 +2=___ b= 9+3-=

8+ 4= 10 =5 = 2525 =_ .

16 = 4 = 18+9=__ 2l + 3=__
56 = 8 = 42 + 7T =____ 30+ 6=__
6+ 3= 15+3=__ 28 + 4=

35 + 7 = 64 ~ 8 = 20+ 9="_°1"

72 + 8 = 16 +2=__ 18 + 6 =___

20 + 4 = 10f2= 40 + 10 =

107



Divide 28 by 2. ' znadmun s2srdt sbivid

=£+0 28:2=S =20 =S+
Step 1:
Write the division sum like this.
=2 <as =d =+ 0Ol =d =8
2)2 8
=€:+1S _ _=0:8 =+ ol
Step 2:
Start from the left side. Divide 2 by 2. |
=0+ 0¢€ __1=T+S:1 4 =8 & oc
2x1=2 so,
. 2,/ 8 2=-2=1 )
=5 + 88 =|12]= € = ¢l =€ + &
0
Step 3: 5 . oo 8350 . SRS
DlwaeS%y'Z. ' '
25 383 L Bcoar - =82zt
2 8
-2 2 X 4 =8 so,
___ =0t+08 _O8g.01 8:2=4 :08
il - SR
0
28 = 2 =14
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Divide these numbers.

3}39

6 )6 6

tonnpd sW
Ylibups T sbivib
sd lliw sW .2 vd

4 [Saitgn t3s)

2}6 2
onedS=2dxd
¢ =2d + @S

¢ + 2V

ET\E

I

ETKE

a-
33'63

.2 vd 27 sbivig

4 gete

2ir% JaFiPmuz noizivib AW

5/:5 gpte

3} 36 )
.€ yd Y sbhiviTl .sbiz t1s| sdt nfo1} tnte

4}84

:€ gste
.¢ yd &S sbivig

2}46
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Divide 75 by 5.

75+ 5

Step 1:
Write the division sum like this.

5) 75

Step 2:
Start from the left side. Divide 7 by 5.
1 We cannot
5) 75 divide 7 equally
-5 by 5. We will be
2 left with 2.
Step 3:
Divide 25 by 5.
1 5
5 ) T B
£ B
2 5 5% 5 =25 8o,
-2 5 25+5=5
.

75+5=15
110




Divide these numbers

4 | T 2 2}34 3}45

1



Division problems in daily life

There are 28 biscuits. The biscuits are put equally
in 7 boxes. How many biscuits are put in
each box?

28 + 7 =7

There are 28 biscuifts.

The biscuits are put
equally into 7 boxes.

There are 4 biscuits in each box.

28+ 7 =4
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Miss Amna has 14 sweetfs.
She divides them equally between
Ali and Sana. How many sweets
do each Ali and Sana get?

Ahmed has 18 balls. He puts the balls equally into
2 boxes. How many balls does he put in each box?

There are 30 pencils. Each student gets 3 pencils.
How many students are in the class?

There are 24 balloons.
Each child gets 8 balloons.
How many children are there?

There are 48 toffees in a pack. They are divided
equally among 8 children. How many toffees does
each child get?
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‘Ahmed and Sana want to measure the length of
different objects.

They can use a ruler and measure the length in
~ centimetres. We can write centimetres as cm.

The scissors are 10 cm long.

- We use centimetres for shorter objects.
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Measure the length of the following objects.

The length of the watch is cm.

11>



We can also measure length in metres. We can

write metres as m. We use metres for longer objects.|

1m = 100cm

Look at the metre ruler. It is 1 m long.

B
E]
B
3
&
g
R
"
"]

The plant is less than 1 m.

The blackboard is almost 1 m tall.

Look at tihe cbjectts. Tell whether you will use
melires or centimetres to messure them.

,

Pencil box

Y

cm

Car

cm
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Kilometres is another unit of length. We can write
1km = 1000m

Kilometres is used to measure distances from one
place to another.

kilometres as km.

5 km

The distance between Ali’'s school and
Minar-e-Pakistan is 5 km.

The distance between Sana’s school and the railwa
station is 10 km.
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Ahmed draws a line. It is 4 cm long.
Hamza draws a line. It is 5 cm long.

What is the total length of both lines?

4 cm
+. B:m
9 cm

The total length of both lines is 9 cm.

Add the lengths.
4 cm 8 cm
+ 4 cm + 3 em
13cm 15cm
+ 52cm 4+ 23¢cm
4 3m 18m
+ 24m +21m
8 O km 6 5 km

18

12cm
¢ .6 0€em

7 3cm
i 2 5cm

1 2km
+ 2 7km




Measuring Mass

Remember the units we used to measure mass.

ﬁ =1 gram
@ = 1 Kilogram
1kg = 1000g

Zara wants to find the mass of the pencil.

The mass of the pencil is 5 grams.

Ahmed wants to find the mass of the bag of flour.

The mass of a bag of flour is 1 kilogram.
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Look at the pic’rureé. Write the mass of each

object.

[ .

2

A

Ahmed buys fruit from the market. The mass of
the apples is 2 kg. The mass of oranges is 3 kg.

What is the total mass of apples and oranges?
2 kg |
+. 3 3. Kke

5 Kkg

Tzlge total mass of the apples and oranges is 5 kg.




Add the mass of objects.

43 g
+29g

- 00
w w

7 8 kg
+ 2 3 Kg

Subtract fhe- mass of objects.

> g
=13 g

w o~
N~
w w

3 5 kg
- 19 Kkg

64 g
+'13 9

o W
wn W

4 2 kg
+5 3 kg

<+

—
w u
w w

™ P
—_— O~
w w

2 6 kg

13 kg




Measuring Capacity

Look at the pot. How many glasses of water can it
hold?

This pot can hold 5 glasses of water.

We can also use a standard unit of measurement
to measure capacity.

Litre is the standard unit of measurement used to
measure capacity. We can write it as L.

Millilitres is also a standard unit of measurement
used to measure capacity. We can write it as mL.

1L = 1000ml

Look at this jug.
This has 800 mL of water.

EE3s88aE 3B
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Look at the measuring jug. Write the amount of
water in the jug.

sz EeEsd8s B

BEsEsEaggh
TEETEREEE |

mL mL mL
Add the mass of objects.
6 I1mL 35 L 4 2 mL
+ 2 8mL + 12mL + 37 mL
5 0L N b 16L
+ 4 5L + 4 8L + 24 L .
Subtract the mass of objects.
6 7mL 8 2mL &3k
- 4 3mL =645 il . A
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Measurement Problems in Daily Life

1. Ahmed bought 57 metres long pipe. His brother
bought 18 metres long pipe. What is the total
length of both pipes?

20 Ali has a ball. It's mass is 40 g. Sana has a ball.
It's mass is 35 g. What is the total mass of both
balls?

3 Ali drank 2 litres of water. Sana drank 3
litres of water. How many litres did they drink
altogether?

4) The distance from Ali’s house to the hospital is
20 km. The distance from the hospital to the
park is 35 km. What is the sum of both distances?

8 My father bought 10 kg flour and 5 kg sugar.
What is the total mass of both flour and sugar?

124




Fractions

Look at the circle.
It is divided into 2 equal parts.

1 part out of 2 is coloured

% of the circle is coloured.

The circle is divided into 4 equal parts.

1 part out of 4 is coloured.

-i- of the circle is coloured.

The circle divided into 3 equal parts.

1 part out of 3 is coloured.

.%- of the circle is coloured.

L, 1and —I-are-éxampl;es of fractions.
2 4 3 :

~ A fraction shows a part of a
whole that is cut into equal parts.
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Look at the rectangle.

It is divided into 3 equal parts

2 parts out of 3 are coloured.

% of the rectangle is coloured.

The square is divided into 4 equal parts.
3 parts out of 4 are coloured.

3 of the square is coloured.

4

The circle is divided into 6 equal parts.

1 part out of 6 is coloured.

.:_. of the square is coloured.
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A fraction has 2 parts.

A numerator shows t
the number of equal |
parts of a whole

numerator That are coloured.

o

Z\ .
denominalor s . ominator shows

the number of equal
parts the whole is
divided into.

- _numerator

T

4 .
N denominafor

numerator

5/

6
N denominator

¢ 127



Look at the rectangle.
What fraction of the

rectangle is coloured?

@ Count the total number of parts. Write them
under the line. This is the denominator.

The rectangle has

B 5 parts so we will
write 5

under the line.

. Count the number of coloured parts. Write
them above the line. This is the numerator.

1 The rectangle has
1 coloured part so we
5 will write 1

above the line.

% of the rectangle is coloured.

numerator

§T

5
N denominator
128




Look at the total number of parts. Then look at
the coloured part. Write the fraction that is
coloured. '

129 -



~ Look at the rectangle.

Colour% of the rectangle.

We will colour 2 out of 3 parts.

Look at the fraction and colour the figure.

3
4

|-

oo|u
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Match the fraction with the correct figure.

oo

1o

131



Comparing Fractions
It is Ali's birthday.

Ali's mother cut the cake into 8 equal pieces.

Sana ate 1 piece. We can say
that she ate %uf the cake.

Ali ate 3 pieces. We can say
that he ate % of the cake.

Who ate more cake?

0> e

3 is greater than % so Ali ate more cake.
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Compare the fractions and write the correct sign
in the middle.
. Remember:
> - < open side [»
- closed side1
= equal




Which fraction is greater?
5

8

Compare the numerators.

5
~ >

5 is greater than 2.

5 2
3 IS greater than 3

oo|ro

0o |ro

Use these symbols to compare fractions.

> <
3 2 2
7 7 5
3 1 5
8 8 12
5 1 1
8 8 9

134
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Addition and Subtraction of Fractions

Ali's mother makes a pizza.

She divides the pizza into 6 parts.

Sana eats % of pizza.

Ali eats % of pizza.

2
6

1 1
6 6

Together, Ali and Sana eat % of pizza.

To add fractions, add the numerators.

§ ol el
5 5 £ 5

135



a8 A T

figures. Add the fracti
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Add the fraction and write the correct answer.

]
[y
4

2
5

Ul
o~
o w

ro |~
o
(%)
et
(-]
o

l + L = ..é- + & =
11 11 9 9

i b l = é i I. =
8 8 10 10

& ¥ i = i + L p
7 4 i 7

1_1 + I_ = lij + _2_ -

20 20 S 17
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Look at the circle. It has 4 equal parts

e

L

Ali colours % of the circle.

He then erases colour from 1 of the circle.

™

What fraction is left coloured?

3 b i = o
% 4 4
-:f:— of the circle is left coloured.

To subtract fractions, subtract the numerators.

L T W
7 7 7

138




by

Look at the figures. Subtract the fraction and
colour the remaining figure.

Ly 139



Subtract the fraction and write the correct answer.

E - i = i - E =
13 13 7 i 4
| Rral R Rl
9 9 19 19
9 i E¥ oL T g,
10 - 10 11 11
L R T
8 8 12 12
50 .8 . B Lot
9 9 13 13
8 3 g L el 1

- 140



Equivalent Fractions

Ali makes a circle.

He divides the circle into 4 parts.

He colours -Lof the circle. K

4

i B2

Sana makes a circle.

She divides the circle info 8 parts.

She colours % of the circle.

The shaded area remains the same.

i
\_

These are known as equivalent fractions.
2 141



Look at the fraction. Look at the options. Tick
the equivalent fraction.

D
X
s

142



Time

A clock tells us the time.

It has a minute hand and an
hour hand.

The longer hand is the minute
hand. It shows us the minutes.

The shorter hand is the hour hand.
It shows us the hours.

Each small marking on
the clock stands for 1
minute.

There are 60 markings
on the clock.

There are 60 minutes in
1 hour.
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Look at this clock.

The hour hand is at 5.

The minute hand is at 3.

This means it is 15 minutes
after 5 o'clock.

Look at this clock.

The hour hand is at 6. We write 6 on the left side.
6 :

The minute hand is at 4. This means it is 20 minutes
after 6 o'clock. We write 20 on the right hand side.

6 : 20 |
We read this as six twenty.
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Read the time. Make hands on the clock.

145



Match the time with the correct clock.

12105

11 : 20




Hamza and Sana are
at the school.

The time is 8 a m.

We use a.m. to talk about time
just after 12 at night to just before
- 12 in the morning.

Hamza and Sana are
eating dinner.

The time is 8 p m.

Read the sentence and encircle the right option.

We go fo school at 7 __. am.|pm.

Sana eats her breakfast at 9 ___. am.|pm.

I go to sleep at 11 __. am.|pm.

147




Look at the clock. Read the time of the day.
Write the time under each clock with a m. and p m.

Morning

148




Look at the time.

Itis 3 : 00.
We say it is 3 o'clock.

3
+ 2
5

It will be 5 o'clock
after 2 hours.

It will be 7 o'clock
after 2 more hours.




Look at the time.

It is 1 o'clock.

Look at the time.
It is 5 o'clock.

What will be the time after 1 hour?

Ali left the house at 6 o'clock. He reached
Islamabad after 5 hours. What was the time?

Anum started her homework at 2 o'clock. She
finished it in 3 hours. What was the time then?
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Look at the time.
It is 5: 00.
We say it is 5 o'clock.

It will be 3 o'clock
2 hours before.

3
1

(%]

It will be 2 o'clock
1 hour before 3 o'clock.




Look at the time.

It is 10 o'clock.

Look at the time.

It is 8 o'clock.

What will be the time 4 hours before?

It is 3 o'clock. Hassan started his homework 2
hours before. What was the time then?

It is 5 o'clock. Sana went to the market 3 hours
before. What was the time then?

152




This is a triangle. A triangle has three sides.

A A

This is a rectangle. A rectangle has 2 pairs equal sides.

This is a circle. It has no side.

This is a square. A square has 4 equal sides.
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Colour the shape that is like the one in the first
column.

o\ NO A
IR A=NA
A< OV
By AN
il
A

D/
D VA




A rectangle has 4 sides.

A square has 4 sides. . .

Both square and rectangle are quadrilaterals.

All quadrilaterals have 4 sides.

Write 1 in all quadrilaterals, 2 in all triangles and

3 in all circles.

A\ O

/]

O
B

O

/\

>
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Look at this circle.

It has a centre.

We can draw a line from the
centre to a point on the circle.

This line is called the radius of the
circle.

We can draw a line from one point
on the circle to another point,
through the centre.

This line is called the diameter of
the circle.

Diameter

UIN0O

Look at the circle. Tell whether the line is of

radius or diameter.

Diameter

Radius
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Look at this square.
3 cm

3cm

3 cm

3 cm

Each side is 3 cm long.
What is the total length of the square?

3cm + 3cm + 3cm + 3cm = 12cm

The total length of the square is 12 cm.

This is called the perimeter of the square.

To find the perimeter:
@) Look at the length of each side of the figure.

@ Add all the lengths.
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Flnd ’rhe perlme+er oF fhe ’rriangle.

3 cm 3 cm

3 cm

3cm + 3cm + 3cm = 9cm

Find the perimeter of the rectangle.

4 cm
4 cm
2cm + 2cm + 4cm + 4cm = 12 cm

Find the perimeter of the square.

e

zcm.Zr:rn

2 cm

2cm 4+ 2cm + 2cm + 2cm = 8cm
158



Read the length of each side of the figure. Find
the perimeter.

Y 4 cm
41 2 . S
Perimeter =
4 cm
7 cm
7 cm _
Perimeter =
2 cm Az cm

2'cm

Perimeter =

159




Picture graphs

Imran buys four types of fruits. He uses a picture
graph to show the number of each type of fruit
he has bought.

Apples Bananas | Oranges | Mangoes
Each @ stands for 1 fruit.

We can read the picture graph by counting the @
Apples: There are 6 @ so he buys 6 apples.

Bananas: There are 3 @ so he buys 3 bananas.

Oranges: There are 4 @ so he buys 4 oranges.

Mangoes:There are 2 @ so he buys 2 mangoes.
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P —

he picture graph below shows the number of
books that each child has.

&
= @ ®
E = & @
s ® & @
® B ® =
®@ O ® ®
Ahmed Haris Sana Anum
Each @ stands for 1 book.

Read the picture graph by counting @. Write the
number of books that each child has.

Ahmed:

Haris:

Sana:

Anum:
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The picture graph below shows the number of '
balloons each child has. |

Ahmed Haris Sana Anum
Each @@ stands for 1 balloon.

Read the picture graph by counting @. Write the
number of balloons that each child has.

Ahmed:

Haris:

Sana:

Anum:
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white stripes on its body and it bites from sunrise 1o sunset.

# ldentification of the disease

The presence of virus of this disease in the body can be assured

Indications

The specific indications of this disease include fover with:
Severe headache, cold and Nu.

Pain in body, back and joints.

Painbehind theeyes.

Presence ofred spots on the body.

PERE®

In case of serious illness, bleading starts from different parts of body
i.e. mouth, nose; etc.

Il there are above indicatlons, take the patient (o nearest
health centre and give him the liquids as prescribed by
the doctor.

|@ Precautionary Measures

Keep your houses and work places protected against mosquitoes.,
Keep houses and work places airy, bright and moisture-free,
Fix nets on doors and windows,

Wear {ull sleeve clothes,

Lise mosguito nets while sleeping,

Keep the overhead water tanks covered.

Empty water containers after a week, let them dry and then fill again,
Water should not fall from the overhead water tanks to accumulate
permanently, instead dry i
Water should not accumulate inany case both inside or outside the
house.

Keep vour houses and mohallah's clean,

Keep the fence and hedge boundaries duly trimmed both inside and
outside the house and spray over them with insecticides, particularly
in the evening,
Water should not stay all the time in the flower pots, flower beds, etc.
Instead water them only in the moming every aliemate day,

2 @@ @ SIS
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